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M.Marks: 80
     General Instructions: 
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SECTION – A
1. Use Euclid’s division algorithm to find the HCF of 4052 and 12576.
2. Find the zeroes of the polynomial x²-3x.
3. Find the discriminant of the equation 
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4. For which values of ‘p’ does the pair of equation given below have many solutions?

4x+py+8=0

12x+2y+24=0

5. Cos(A+B)= CosA+ CosB , Is it true or false. Justify your answer with an example.

6. In an equilateral (ABC , AD is the altitude drawn from A on side BC. Prove that 3AB2= 4AD2.
7. [image: image10.png]Observe the given figure and find (P
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8. The length of minute hand of a clock is 14cm. How much area will be swept by it between 9 A.M. to 9:35A.M. 

9. What is the empirical relationship between the three measures of central tendency?
10. If P(E)=0.14 what is the probability of ‘not E’?

SECTION-B

11. Find the sum of all integers between 50 and 500 which are divisible by 7.
12. In the figure, if the coordinates of the points A and B are (-1,0) and (3,0) respectively. Find the Polynomial.


13. If  x = 
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, show that x2-y2 = a2-b2.
14. If the points (7,-2), (5,1), (3,k) are collinear, find the value of k.

15. ABD is right triangle, right angled at A and AC(BD, Show that AC² =BC×DC

OR

PQ is a chord of length 8cm of circle of a radius 5cm. The tangents at P and Q intersects at point T. find the length of TP and TQ

16. Metallic spheres of radii 6cm, 8cm and 10cm respectively are melted to form a single solid sphere. Find the radius of the resulting sphere.

SECTION-C
17. The car hire charges in a city comprise of a fixed charge together with charge for the distance covered For a journey of 12 km, the charge paid is Rs. 89 and for a journey of 20km, the charges paid is Rs. 145. What will a person have to pay for traveling a distance of 30 Km?
18. Show that 5-
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 is irrational.

19. Tickets numbered 5 to 50 are mixed up thoroughly and then a ticket is drawn at random. What is the probability that the ticket has: (i) an odd number (ii) even number (iii) prime number.
20. If CD and GH are respectively bisectors of angle ACB and angle EGH  and triangle ABC is similar triangle to FEG, prove that:
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21. 
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       Evaluate  
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22. If the points A(6,1),B(8,2), C(9,4) and D(p,3)are the vertices of  a parallelogram taken in order find the value of ‘p’.
23. Construct an isosceles triangle whose base is 10cm and altitude 5cm and then another triangle whose sides are 
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times the corresponding side of the isosceles triangle.(with steps of construction)

24. Find the coordinates of the points of trisection of the line segment joining (4,-1) and (-2,-3).

25. Which term will be the first negative of the sequence: 24,21,18…………….?

OR

In the sum of first seven terms of an AP is 49 and that of seventeen terms is 289. Find the sum of first n terms.

26. In the given figure a square OABC is inscribed in a quadrant OPBQ. If OA=40cm. Find the area of shaded region(use (=3.14)


OR

Find the area of the shaded region whose ABCD is a square of side 16cm and semicircles are drawn with each side of the square as diameter (use (=3.14)


SECTION-D
27.  Prove tangents drawn from an external point to a circle are equal in length. 

          If two circles touch each other externally at C. Prove that common tangent at C 

      bisects the other two common tangents.

OR

      Prove that the ratio of the areas of two similar triangles is equal to the square of 
      their corresponding sides.

  Using the above theorem prove that two similar triangles of equal area, are   

  congruent

28.  It takes 12 hours to fill a swimming pool using 2 pipes. If the larger pipe is used for 4 hours and the smaller pipe for 9 hours, only half the pool is filed. How long would it take for each pipe alone to fill the pool?
29. If the median of the distribution given below is 28.5, find the values of x and y.
	Class Interval
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60
	Total

	Frequency
	 5
	x
	20
	15
	y
	5
	60


30. A container, opened from the top and made of metal sheet, is in the form of a   

       frustum of a cone of height 20cm with radii of its lower and upper ends as 12cm and   

       25cm respectively. Find the cost of milk which can completely fill the container, at  

       the rate of Rs 20/litre. Also find the cost of metal sheet used to make the container ,if   

       it cost Rs 8 /100cm2 (Use (=3.14)

OR

     The height of of a cone is 30 cm. A small cone is cut off at the top by a plane parallel   

     to the  base. If its volume is 
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of the volume of the given cone, at what height above  

     the base is the  section made.
“Silently hear everyone. Accept what is good.

Reject and forget what is not.This is intelligent living.”

Pujya Gurudev

ALL THE BEST

Chandan Singh Ghughtyal
chandanganga@gmail.com
CHINMAYA INTERNATIONAL RESIDENTIAL SCHOOL
All questions are compulsory.


This question paper consists of 30 questions divided into four Sections A, B, C and D. Section-A consist of 10 questions of 01 marks each, Section -B consists of 5 questions of 02 marks each, 


       Section - C consist of 10 questions 03 marks each and  Section – D  consist of 5  questions 06 marks          each.


There is no overall choice. However, internal choice has been provided in one question of Section- B, three questions of Section-C and two questions of Section-D. You have to attempt only one of the alternatives in all such questions.


All questions in section – A are to be answered in one word, one sentence or as per the exact requirement of the question.


In question of construction, drawings should be neat and exactly as per the given measurements.


Use of calculator is not permitted.
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